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NEW QUESTION 1
A company recently experienced a power outage that lasted 30 minutes. During this time, a whole rack of servers was inaccessible, even though the servers did
not lose power.
Which of the following should be investigated FIRST?

A. Server power
B. Rack power
C. Switch power
D. SAN power

Answer: C

NEW QUESTION 2
Some VMs that are hosted on a dedicated host server have each been allocated with 32GB of memory. Some of VMs are not utilizing more than 30% of the
allocation. Which of the following should be enabled to optimize the memory utilization?

A. Auto-scaling of compute
B. Oversubscription
C. Dynamic memory allocations on guests
D. Affinity rules in the hypervisor

Answer: C

NEW QUESTION 3
An organization is developing a new solution for hosting an external website. The systems administrator needs the ability to manage the OS. Which of the following
methods would be MOST suitable to achieve this objective?

A. Deploy web servers into an laaS provider.
B. Implement a cloud-based VDI solution.
C. Provision web servers in a container environment.
D. Use PaaS components in the cloud to implement the product.

Answer: C

NEW QUESTION 4
A systems administrator needs to configure SSO authentication in a hybrid cloud environment. Which of the following is the BEST technique to use?

A. Access controls
B. Federation
C. Multifactor authentication
D. Certificate authentication

Answer: C

NEW QUESTION 5
A DevOps administrator is automating an existing software development workflow. The administrator wants to ensure that prior to any new code going into
production, tests confirm the new code does not negatively impact existing automation activities.
Which of the following testing techniques would be BEST to use?

A. Usability testing
B. Regression testing
C. Vulnerability testing
D. Penetration testing

Answer: B

NEW QUESTION 6
A systems administrator needs to configure an email client to ensure data integrity of the email messages. Which of the following provides the BEST mechanism to
achieve this goal?

A. Cyclic redundancy check
B. SHA-1 hashes
C. SHA-256 hashes
D. Digital signature

Answer: A

NEW QUESTION 7

An organization has the following requirements that need to be met when implementing cloud services: 

SSO to cloud infrastructure
 On-premises directory service
 RBAC for IT staff
Which of the following cloud models would meet these requirements?

A. Public
B. Community
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C. Hybrid
D. Multitenant

Answer: C

NEW QUESTION 8
To save on licensing costs, the on-premises, IaaS-hosted databases need to be migrated to a public DBaaS solution. Which of the following would be the BEST
technique?

A. Live migration
B. Physical-to-virtual
C. Storage-level mirroring
D. Database replication

Answer: B

NEW QUESTION 9
Lateral-moving malware has infected the server infrastructure.
Which of the following network changes would MOST effectively prevent lateral movement in the future?

A. Implement DNSSEC in all DNS servers
B. Segment the physical network using a VLAN
C. Implement microsegmentation on the network
D. Implement 802.1X in the network infrastructure

Answer: B

NEW QUESTION 10
A systems administrator is deploying a VM and would like to minimize storage utilization by ensuring the VM uses only the storage if needs. Which of the following
will BEST achieve this goal?

A. Compression
B. Deduplication
C. RAID
D. Thin provisioning

Answer: D

NEW QUESTION 10
A systems administrator has finished installing monthly updates to servers in a cloud environment. The administrator notices certain portions of the playbooks are
no longer functioning. Executing the playbook commands manually on a server does not work as well. There are no other reports of issues.
Which of the following is the MOST likely cause of this issue?

A. Change management failure
B. Service overload
C. Patching failure
D. Job validation issues
E. Deprecated features

Answer: D

NEW QUESTION 11
Which of the following will mitigate the risk of users who have access to an instance modifying the system configurations?

A. Implement whole-disk encryption
B. Deploy the latest OS patches
C. Deploy an anti-malware solution
D. Implement mandatory access control

Answer: D

NEW QUESTION 14
A systems administrator needs to configure monitoring for a private cloud environment. The administrator has decided to use SNMP for this task.
Which of the following ports should the administrator open on the monitoring server’s firewall?

A. 53
B. 123
C. 139
D. 161

Answer: D

NEW QUESTION 18
An organization has multiple VLANs configured to segregate the network traffic. Following is the breakdown of the network segmentation:
 Production traffic (10.10.0.0/24)
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 Network backup (10.20.0.0/25)
 Virtual IP network (10.20.0.128/25)
The following configuration exists on the server:

The backup administrator observes that the weekly backup is failing for this server. Which of the following commands should the administrator run to identify the
issue?

A. ROUTE PRINT
B. NETSTAT -A
C. IPCONFIG /ALL
D. NET SM

Answer: A

NEW QUESTION 21
A systems administrator is reviewing two CPU models for a cloud deployment. Both CPUs have the same number of cores/threads and run at the same clock
speed.
Which of the following will BEST identify the CPU with more computational power?

A. Simultaneous multithreading
B. Bus speed
C. L3 cache
D. Instructions per cycle

Answer: D

NEW QUESTION 24
A storage array that is used exclusively for datastores is being decommissioned, and a new array has been installed. Now the private cloud administrator needs to
migrate the data.
Which of the following migration methods would be the BEST to use?

A. Conduct a V2V migration
B. Perform a storage live migration
C. Rsync the data between arrays
D. Use a storage vendor migration appliance

Answer: D

NEW QUESTION 28
A cloud architect is designing the VPCs for a new hybrid cloud deployment. The business requires the following:
 High availability
 Horizontal auto-scaling
 60 nodes peak capacity per region
 Five reserved network IP addresses per subnet
 /24 range
Which of the following would BEST meet the above requirements?

A. Create two /25 subnets in different regions
B. Create three /25 subnets in different regions
C. Create two /26 subnets in different regions
D. Create three /26 subnets in different regions
E. Create two /27 subnets in different regions
F. Create three /27 subnets in different regions

Answer: B

NEW QUESTION 29
A media company has made the decision to migrate a physical, internal file server to the cloud and use a web- based interface to access and manage the files.
The users must be able to use their current corporate logins.
Which of the following is the MOST efficient way to achieve this goal?

A. Deploy a VM in a cloud, attach storage, and copy the files across
B. Use a SaaS service with a directory service federation
C. Deploy a fileshare in a public cloud and copy the files across
D. Copy the files to the object storage location in a public cloud
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Answer: C

NEW QUESTION 33
A cloud administrator is reviewing the authentication and authorization mechanism implemented within the cloud environment. Upon review, the administrator
discovers the sales group is part of the finance group, and the sales team members can access the financial application. Single sign-on is also implemented, which
makes access much easier.
Which of the following access control rules should be changed?

A. Discretionary-based
B. Attribute-based
C. Mandatory-based
D. Role-based

Answer: D

NEW QUESTION 36
A systems administrator recently upgraded the processors in a web application host. Upon the next login, the administrator sees a new alert regarding the license
being out of compliance.
Which of the following licensing models is the application MOST likely using?

A. Per device
B. Per user
C. Core-based
D. Volume-based

Answer: C

NEW QUESTION 40
A resource pool in a cloud tenant has 90 GB of memory and 120 cores. The cloud administrator needs to maintain a 30% buffer for resources for optimal
performance of the hypervisor. Which of the following would allow for the maximum number of two-core machines with equal memory?

A. 30 VMs, 3GB of memory
B. 40 VMs, 1,5GB of memory
C. 45 VMs, 2 GB of memory
D. 60 VMs, 1 GB of memory

Answer: D

NEW QUESTION 42
A systems administrator is analyzing a report of slow performance in a cloud application. This application is working behind a network load balancer with two VMs,
and each VM has its own digital certificate configured. Currently, each VM is consuming 85% CPU on average. Due to cost restrictions, the administrator cannot
scale vertically or horizontally in the environment. Which of the following actions should the administrator take to decrease the CPU utilization? (Choose two.)

A. Configure the communication between the load balancer and the VMs to use a VPN.
B. Move the digital certificate to the load balancer.
C. Configure the communication between the load balancer and the VMs to use HTTP.
D. Reissue digital certificates on the VMs.
E. Configure the communication between the load balancer and the VMs to use HTTPS.
F. Keep the digital certificates on the VMs.

Answer: BE

NEW QUESTION 43
A systems administrator disabled TLS 1.0 and 1.1, as well as RC4, 3DES, and AES-128 ciphers for TLS 1.2, on a web server. A client now reports being unable to
access the web server, but the administrator verifies that the server is online, the web service is running, and other users can reach the server as well.
Which of the following should the administrator recommend the user do FIRST?

A. Disable antivirus/anti-malware software
B. Turn off the software firewall
C. Establish a VPN tunnel between the computer and the web server
D. Update the web browser to the latest version

Answer: D

NEW QUESTION 45
A web server has been deployed in a public IaaS provider and has been assigned the public IP address of 72.135.10.100. Users are now reporting that when they
browse to the website, they receive a message indicating the service is unavailable. The cloud administrator logs into the server, runs a netstat command,
and notices the following relevant output:

Which of the following actions should the cloud administrator take to resolve the issue?

A. Assign a new IP address of 192.168.100.10 to the web server
B. Modify the firewall on 72.135.10.100 to allow only UDP
C. Configure the WAF to filter requests from 17.3.130.3
D. Update the gateway on the web server to use 72.135.10.1

Answer: D
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NEW QUESTION 50
A company wants to check its infrastructure and application for security issues regularly. Which of the following should the company implement?

A. Performance testing
B. Penetration testing
C. Vulnerability testing
D. Regression testing

Answer: C

NEW QUESTION 54
A company has developed a cloud-ready application. Before deployment, an administrator needs to select a deployment technology that provides a high level of
portability and is lightweight in terms of footprint and resource requirements.
Which of the following solutions will be BEST to help the administrator achieve the requirements?

A. Containers
B. Infrastructure as code
C. Desktop virtualization
D. Virtual machines

Answer: A

NEW QUESTION 58
The security team for a large corporation is investigating a data breach. The team members are all trying to do the same tasks but are interfering with each other’s
work.
Which of the following did the team MOST likely forget to implement?

A. Incident type categories
B. A calling tree
C. Change management
D. Roles and responsibilities

Answer: D

NEW QUESTION 59
The human resources department was charged for a cloud service that belongs to another department. All other cloud costs seem to be correct.
Which of the following is the MOST likely cause for this error?

A. Misconfigured templates
B. Misconfigured chargeback
C. Incorrect security groups
D. Misconfigured tags

Answer: A

NEW QUESTION 61
An organization is running a database application on a SATA disk, and a customer is experiencing slow performance most of the time.
Which of the following should be implemented to improve application performance?

A. Increase disk capacity
B. Increase the memory and network bandwidth
C. Upgrade the application
D. Upgrade the environment and use SSD drives

Answer: D

NEW QUESTION 62
A systems administrator is building a new virtualization cluster. The cluster consists of five virtual hosts, which each have flash and spinning disks. This storage is
shared among all the virtual hosts, where a virtual machine running on one host may store data on another host. This is an example of:

A. a storage area network
B. a network file system
C. hyperconverged storage
D. thick-provisioned disks

Answer: A

NEW QUESTION 63
A company needs to access the cloud administration console using its corporate identity. Which of the following actions would MOST likely meet the
requirements?

A. Implement SSH key-based authentication.
B. Implement cloud authentication with local LDAP.
C. Implement multifactor authentication.
D. Implement client-based certificate authentication.
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Answer: D

NEW QUESTION 64
An organization has two businesses that are developing different software products. They are using a single cloud provider with multiple IaaS instances. The
organization identifies that the tracking of costs for each business are inaccurate.
Which of the following is the BEST method for resolving this issue?

A. Perform segregation of the VLAN and capture egress and ingress values of each network interface
B. Tag each server with a dedicated cost and sum them based on the businesses
C. Split the total monthly invoice equally between the businesses
D. Create a dedicated subscription for the businesses to manage the costs

Answer: B

NEW QUESTION 65
A cloud administrator recently deployed an update to the network drivers of several servers. Following the update, one of the servers no longer responds to remote
login requests. The cloud administrator investigates the issue and gathers the following information:
 The cloud management console shows the VM is running and the CPU and memory utilization is at or near 0%.
 The cloud management console does not show an IP address for that server.
 A DNS lookup shows the hostname resolves to an IP address.
 The server is a member of the same security group as the others.
 The cloud administrator is able to log in remotely to the other servers without issue.
Which of the following is the MOST likely cause of the server being unavailable?

A. The network driver updates did not apply successfully, and the interface is in a down state.
B. The ACL policy for the server was updated as part of the server reboot, preventing login access.
C. The server was assigned a new IP address, and DNS entry for the server name was not updated.
D. The update caused an increase in the output to the logs, and the server is too busy to respond.

Answer: A

NEW QUESTION 67
A systems administrator is provisioning VMs in a cloud environment and has been told to select an OS build with the furthest end-of-life date.
Which of the following OS builds would be BEST for the systems administrator to use?

A. Open-source
B. LTS
C. Canary
D. Beta
E. Stable

Answer: E

NEW QUESTION 71
A systems administrator is trying to reduce storage consumption. Which of the following file types would benefit the MOST from compression?

A. System files
B. User backups
C. Relational database
D. Mail database

Answer: B

NEW QUESTION 75
A company recently subscribed to a SaaS collaboration service for its business users. The company also has an on-premises collaboration solution and would like
users to have a seamless experience regardless of the collaboration solution being used.
Which of the following should the administrator implement?

A. LDAP
B. WAF
C. VDI
D. SSO

Answer: A

NEW QUESTION 80
A software development manager is looking for a solution that will allow a team of developers to work in isolated environments that can be spun up and torn down
quickly.
Which of the following is the MOST appropriate solution?

A. Containers
B. File subscriptions
C. Ballooning
D. Software-defined storage

Answer: A
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NEW QUESTION 83
A systems administrator is configuring a storage array.
Which of the following should the administrator configure to set up mirroring on this array?

A. RAID 0
B. RAID 1
C. RAID 5
D. RAID 6

Answer: B

NEW QUESTION 85
A SaaS provider wants to maintain maximum availability for its service. Which of the following should be implemented to attain the maximum SLA?

A. A hot site
B. An active-active site
C. A warm site
D. A cold site

Answer: A

NEW QUESTION 86
......
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